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53,000
123,600

EUNCINEY)

403 A X EHS =0l A 588,600 3,569,700 A2,981,100
412,000
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412,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 385,300
= 899, 100
02 ZI2SHUSA=2EAEAS Y 4,281,400 574,300 3,707,100
O0lx™H A HE ML 4,281,400
= 2,997,000
= 385,300
= 899, 100
o An AR {E Y 138,600 0 138,600
Fag 97,000
= 12,500
= 29,100
403 XX SRS K20 & 138,600 0 138,600
Fag 97,000
o=} 12,500
= 29,100
02 2| 2SO Uet =22 EAIS Y 138,600 0 138,600
OYd A A HEIMWLAIL(IXEE) 138,600
oy 97,000
= 12,500
= 29,100
AFH 2& A HEINY 171,400 0 171,400
Fag 120,000
= 15,400
= 36,000
403 XX SHHS K20 & 171,400 0 171,400
g 120,000
== 15,400
= 36,000
02 BI2SHUSXA=2EAEAISHI 171,400 0 171,400
OEMH 28 A HEINLAMA(IXNHEL) 171,400
g 120,000
= 15,400
= 36,000
238 0ISH ESHY(NE) 507,000 450,000 57,000
403 XX SHS K20 & 507,000 450,000 57,000
02 2| 2SO e A=2EAEAS Y 507,000 450,000 57,000
OZd 0SSP ESNEAMY(BHE L) 507,000
E§ol OSSP SN (HEH) 280,000 362,000 A 82,000
403 XX S M S K201 & 280,000 362,000 A 82,000
02 2| 2SO Uet 2= EAIS Y 280,000 362,000 A 82,000
Eol DISHP SN ASE(UXEE) 280,000
2222 0ISHS ESHE (ME) 1,111,000 506,000 605,000
403 XX SHHS K20 & 1,111,000 506,000 605,000
02 BI2SHUESXA2ERAEAIS Y 1,111,000 506,000 605,000
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M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
= 7,943,200
= 249,840
= 582,960
[ A E S22 96,220 205,000 A 108,780
201 gEt24dy| 6,220 0 6,220
02 E2=224%H| 6,220 0 6,220
OXANLALE HMIR2(25 - 3H 24X
CIAlE, =& HA&X 310,000& x12& 3,720
ONSEMLALT STB2I(SE - 32 24|
s) 1,250,000& 23| 2,500
401 A& HI L 204 HI 90,000 195,000 A 105,000
01 Al&H| 90,000 195,000 A 105,000
H2ACh= XNHESHSHE =2 A 15,000
OAHBHOIZ 2232 A X SAt 15,000
O230t2 oM A E eged 40,000
OSIHAE2A0IS ol=XelAE e 20,000
ARFAIYE 82 =4 4,000 13,800 A9,800
201 et Y| 4,000 9,000 25,000
01 Ak 2reltl 4,000 9,000 5,000
OUFAY ZREH(HAXE WE S
25,000 202 x4 = %23 4,000
HEMSHAY| (N n) 62,440 73,360 A 10,920
PIEET 62,440 73,360 ~10,920
J2ZH(NEFHME) 33,640 39,760 N6,120
201 Yet2 2t 15,960 17,760 A1,800
01 AP 22| H| 15,960 17,760 A 1,800
O&NEYd LBtxx=ZH| 11,400
—AMEIR=2(98) 120,000& »12& 1,440
HLIHEZ(1B) 60,000 x12& 720
— ZIHEHIUAES(2E) 40,0002 x2=+128 960
—S4Y%s AIEs 10,000 x12& 120
— Tzl E 1(6&), €8 S 500,000 *12€ 6,000
— 237, AIRE3 S 180,000& =128 2,160
OZNE&d S| 8,000& x 192 x304! 4,560
202 044 13,900 14,500 A 600
01 =2 LH 4 HI 13,900 4,900 9,000
OS89 ol 20,000 x 19 x5 1,900
O=2U 0 H| 20,000 x5 120 12,000
203 Q2 =AY 3,780 7,500 3,720
04 ENSIE LR F=XH| 3,780 4,200 AN420
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FN2S LRI 315,000& »12& 3,780
Jle2dl (el asd) 7,200 7,200 0
202 o4dl 7,200 7,200 0
01 = LH o4 1l 7,200 0 7,200
O=Waotl 20,0003 x3HF x120 7,200
J2ZH(ENEXE) 7,200 7,200 0
202 odl 7,200 7,200 0
01 = LH o4 1l 7,200 0 7,200
O=UWotl 20,0003 x3H «120 7,200
J2du (2N UXE) 7,200 7,200 0
202 o4l 7,200 7,200 0
01 = LH YI 7,200 0 7,200
O=U o di 20,0003 x3H x120 7,200
JIEFBHI(XISHEE) 7,200 12,000 A 4,800
202 O4dl 7,200 12,000 A 4,800
01 = LH o4 1l 7,200 0 7,200
O=3UWoHI 20,000 x3F » 120 7,200
NRes(XSed) 106,400 249,617 A143,217
HEAHHK = 100,000 198,000 98,000
saJgsdlla 883 100,000 100,000 0
702 JISEES 100,000 100,000 0
0MII3dEES 100,000 100,000 0
OsANJIg=EdII=Z MES 100,000
EdXE 6,400 51,617 A45,217
=& Hl gretz 6,400 51,617 AN45,217
802 BHEt = JIEF 6,400 51,617 N45,217
01 2 NE2x3eeEa 3,000 9,967 26,967
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ONBE JtAAAE e A 1,000
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OLPIHA AL SHMEXIZ 0l AFY 100
02 Al - EHIEXSEHEZ 3,400 41,650 A 38,250
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o 100
O/MTHEUUX ES(HE S FSA)AY 3,000
O0ILEHZZ E5AtY 200
OLPIIAAIE QA XIZ 0l AL 100




